New Commerce Coaching Center

e SAeelr A Simfe
Time : 50 Minutes. | Total Questions : 50 | Total Mark : 50 X 1 = 50
Postive Mark For Every Question : 1 | Negative Mark For Every Question : 0

1) eIt AfSBITT Sew WMo F© 27 1F R AT?

A. R 9
B. feq g=ig
C. 5 i
D. #ifs =iz

Correct Answer : [ 214

2) TP ARSBICT g 21¢ly FAR TIHCelR &y T ~wfo 2bfere ez

A. 22
B. feafs
C. oo
D. #ifofs

Correct Answer : 230

3) It 2fSBITTR (@ @I et T T Teqw #Ieelyst AR St A (@I g ~hafors?

A. IS TR “afe

B. Fleifes Jgm “afe

C. fey Tgm “imfe

D. tofe sitetrs wgw e wmfe

Correct Answer : {97 e %S

4) s @G R Fices @fFEy 91

A. <RI AR AT

B. witeTa Afersrel Srare A

C. T o7 Trge M

D. @rRcE AR Teg AT o1 St A A

Correct Answer : NICeTa J&7) Srard AN

5) “i6eTAreT 2ltels Wiet AT AfSHIET (@I el wfes FEFR?

A. FIFO
B. 3E T cmfe
C. S I& °IY “af©
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D. LIFO

Correct Answer : FIFO

6) Tt @ e Aot afzy 721?

A. TR 2if} e [ 5o «igelt =re

B. Wgre NteR o sifasie fefy

C. FRAE TARRIT T <7l oo

D. WEe Wt 7, Io7 @ TReed A i

Correct Answer : TN ST T=IF qigelt «1he

7) fels SRAMARIRT 2ifSBITTa ew Tt fRECers A4 @ @6 ?

A. W= fSqe
B. ABC fese
C. m3e

D. EOQ

Correct Answer ; e <foqq

8) dlafEs Mew TIeT wo, 000 BIFI, T $,%0,000 B, KA 3,00,000 BIFT | RFT @217 YT 20%
RO AN ew AT F07?

A. Yo,000
B. R0,000
C. 90,000

D. vo,000

Correct Answer : 90,000

9) TR IR LY SAFI (FIA?

A. IO [T
B. S SIS
C. ST 255
D. fq@w <5m

Correct Answer : B 4

10) &I96 I [EE TAMI

A. &or% JGEE
B. JaaEt Soifsarw
C. S et




D. e

Correct Answer : 295 FIBINE

11) Foa FINGT & Tgwm ez wwmes)?

A. A5 ol weriee faefa
B. A< witawt wifker fyefx
C. =5 «foarm Be ey

D. 5% 3wtz sifasier fefa

Correct Answer : 7% s waree ey

12) & 3106 @A ffias A a1

A. &% R ~Hfe
B. TpF© TiteTe “Afee
C. SeeT ey

D. Tge tea =i

Correct Answer : T Y&

13) RITT S ARG #A10G A FI N SIfeTPPNR G0 F1C AT ATF | 93 FISE [ 917

A. T3
B. &1 JfC
C. T Fe
D. W& «feqis

Correct Answer : [ SIS

14) @ 4feA @7 e Feew ife, [oiww @ Trred ==, v ¢ o7 «iFl I oItz & Jee1?

A. e Afs3ia

B. stixiger «fewis
C. RT3

D. Rpsiar Afsie

Correct Answer : SIe ¥fSziq

15) @ FIC &I AT 227

A. SfET

B. %Ity T Q14 it
C. I3BI*IFF =6

D. fomRawa Fitg




Correct Answer : @WICH e S T

16) e <l i At =72

A. SeoAME IR iR [eiee
B. @wits

C. SfeeT

D. IRZHAET IR

Correct Answer : &7« 357 =119 f[@iter

17) @I Freifes Tem “mhod eyt 9317

A. Tom TR T O @ wiferived ABRE! AT

B. I o8ieT Iene eoid et a8t ade 203 A
C. N7 ACH I Pl a=eel wfbere 12w
D. @b Sprae et

Correct Answer : 46 SR IR

18) SiteTst w11 JIera CeTye 3 Wief fsf3e (i sfafe ezt Ifeges?

A. FIFO
B. LIFO
C. SRY% ¢ “&fo
D. 4= T afe

Correct Answer : FIFO

19) STeT T Aena e A7 et (i @I #Aafis efeam pfesges?

A. FIFO
B. LIFO
C. SY@ T “&ie
D. e 1% *@hs

Correct Answer : LIFO

20) T TG o7 Ao o =02

A. o7 7%
B. o9I¥ %<
C. T[T+

D. g

Correct Answer : 79 75




21) TR & T AN I3 O A fowe @I “fafs Ifege?

A. FIFO
B. LIFO
C. S 10 %S
D. JAKEe G Tafs

Correct Answer : SF& ¢ “&ho

22) i« I el wiftng I

A. RN T
B. o 7%=

C. g1
D. cwssui

Correct Answer : @Wi¥ %5

23) @ [t N6 WMol T FACO SCAld TR & Qo T GG Pl {0 AMCF OIS 6 ee1?

A. @ A 7@

B. T4iae e SIfgisao@
C. Sfsfae e SfABa=1q
D. e 5© 7@

Correct Answer : @ S5 19

24) ffeq TerAve 0@ @ Sy AT Wi S &) AL ST (@ AQ@TeT @niy T W6 ceFel
341 7 ©ItS & Jee1?

A. T IR g
B. W& (5 7@
C. W< 2T 7
D. i SIfaise oia

Correct Answer : JI& {5 2Iq

25) A IE @tz & @i [ AL

A. TV TTE T
B. Wem Wieera “Afase
C. e 2fife

D. item fsfsw

Correct Answer : e JCeT =77




26) T AKAGF 21q (A o T 7772

A. @ el

B. @RlNEwg W0
C. g {6
D. @3 et

Correct Answer : &% o1t

27) e SAB@ (ST o Fe0o 277

A. @3 it

B. @3 feres

C. enwasaag W6
D. Jg#NIT 756

Correct Answer : SRINTwF2F 36

28) &WITT A FFHCe &y TIeT 1 2ATelfF & (F @ 8 SfIIo 71a dF© 3H?

A. RN 5
B. Feitm s

C. g1
D. Il

Correct Answer : @WI¥ 55

29) (@ TN o7 WA oOIT @RIt A = 7 9ol [T G0 TR Gy (F @ S0 7 dEFS
FCAT?

A. B [eltem Fiwel
B. @Y %%

C. Tz w53

| DRSICE kB

Correct Answer : 74 Reitg sl

30) SIeT S (F AFS T ?

A. CRIFE
B. @Y %%
C. o w5s
D. I33#s

Correct Answer : CFINIIT




31) vMqizere: Terhe SfEicaitas T30 efef gge w4 2x?

A. 93
B. feAft
C. oial®
D. e

Correct Answer : [0

32) e (T 2[0qq o1 T+ I FlR AFF© AF?

A. FF© miFHIar R
B. Sesiive 53 foriq ot
C. wmlts

D. JIEIMIT Stz

Correct Answer : (F9% 2wiSsiar f[oice

33) @G et ey ew ofteir Yo =i ?

A. R@e itelrg a5
B. &
C. @1

D. W

Correct Answer : @ «ltei@ 3

34) wifds w@gl RRFAIce TGquee @IF 7m ReTa @LieEr 23172

A. veife =m
B. & w>m
C. A 7w
D. Sleifas s=om

Correct Answer : 5eie 72w

35) efiafes Tam @R @it @I @R @i 21?

A. ™>m

B. b @x

C. ffers a7 a7
D. 5 =iy

Correct Answer : [Afere I=7ig 500




36) Sl Tgw G FI TN TgA At =7 = T2

A. 7R Sl g
B. QA AN
C. Rew »=ke7
D. T@F “7o7

Correct Answer : 3 FIeT (07
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A. RS W& oAl + FAFS 2T T

B. @gS Al U - 2fEF To Ay

C. s T “Al) + TP AT I - FANIA TG 7%
D. @7 - @7F© At

Correct Answer : AT T&GT Aol + FIF© AT U7

38) ST Sew sitelya A wib Mg Hefw war a7

A. A Tgm Al + TIPS o - s ofp
B. s ==y - arfes wgw =ty

C. @7Fe A - [Kfrs A

D. @TgS 79 + [ 297 + Aafes wem el

Correct Answer : dIFf@® Tgw 4y + @IF© Al - Ko

39) «zfs efepitas R[RfeFe e IT ¢,00,000 BIFT QI FAN TGW =167 3,30,000 HIFI 2T KA

A. >,20,000 B3I
B. 9,b0,000 GBIl
C. Q,oo,oooﬁm
D. b,io,ooom

Correct Answer : Y,20,000 BI<t

40) @3 gfeitag fKifeme #Itei= 377 8,¢ 0,000 BIFT G AN #ITelTF 3 b,00,000 BIFE FCE A2
TG AT o F97?

A. 5,&o,000 GBIl
B. 8,¢o,000 Biwt
C. \‘a,oo,oooﬁm
D. %0,&0,000 B

Correct Answer : 3,&0,000 Gl
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IAIR-S ARES 878 2000 GFF &f© 4FF Yo B, TITAIR-3¢ T T booo GFF &fe T 32 BIFl, WIF-2¢ W+ RFT 9000 GFF Af®
O3S 15 B,

A. 9Y 000 BIFt
B. 90,000 Gt
C. 20,000 Bt
D. 0,000 BI<

Correct Answer : 9%, 000 BIt

42) SIte! ST Seer I shafors RfTeaita e A 972

IAIR-5 ARES 878 2000 GFF &f© 4FF Yo B, WITAIR-3¢ T T booo GFF &df® 4T 32 BIFl, WIAIE-2¢ W+ RFT 9000 GFF Af®
O3S 15 B,

A. 20,000 51l
B. vo,000 Bit
C. vo,000 GBI
D. »Y,000 BIt

Correct Answer : 0,000 GBIl

43) " ST ACETF A S A " AGOTS 22 ST o qFF A T FAC 97 2lfS Y7 TS Hil
{?
*he @I @RI 2,50 @ Y0 O TAFCT Yoo UFF €.00 BT, S0 UFF ¢.¢0 BIF UR S¢o UFF b BTl JTH I @ FCA |

A. ¢.co
B. ¢.co0
C. c.a¢
D. v.o0

Correct Answer : ¢.oo

44) VT 0T 90 AFF e AR -
e (@I GIRIR 2,50 € Y0 SIfFTd IAFTH Yoo UFF ¢.00 BIF, S0 UFF €.¢o BIFT YR 3¢o UFF Y BIF! JITH FIBINIT T A |

A. Y83
B. ¢V
C. >80
D. 5 2809

Correct Answer : > 8 ©

45) se ¥ sifaed FIFO ~afsre el 3fEFs ATl &0 Fo?
GFB TR 2fSBITTa SwITT 37 (7 SIfiTe 20 BIFT W 200 @& T35 TgqW fZe | do (¥ SIfftd Yoo @& T I | S¢ (T 3¢ BIF ed woo




&S 5 T I |

8000 GBIt
Seoo BIFt
50,000 Bt
53,&00 BiFt

©Onw>

Correct Answer : S¢oo GBI

46) So (T SIfTAR THFS AN T F9?
b TeAMARIA 2fOBITAT ST S (7 SIRTY R0 B! A 00 (e 77 TgW 257 | So (F SIfFTe Soo (& T T | d¢ O ¢ Bl wed woo
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A. 000 5it
B. 23¢o BIw
C. ¢oo 5ist
D. 29¢o BIFt

Correct Answer : 000 GBIl

47) feoa Ifs sem o fofe 2
A. a
B. b
C.c
D. ab

Correct Answer : b

48) Sem fazaes wiv= AfR f2oTg ey e AT _
A. isii
B. i @ iii
C. ii €iii
D. i, ii € iii

Correct Answer :1 € 1i

49) T SO #Itq g ACE
A. i8ii
B. i$iii
C. ii @ iii
D. i, ii @ iii

Correct Answer : 1, i1 '8 iii
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A.isii
B. i €iii
C. ii € iii
D. i, ii ® iii

Correct Answer : 11 8 i1l




